
400 SX-C '99 <1999><AU><836098>
LUBRICATING SYSTEM

34249

Pos Part Number Description Additional Text Quantity

1 58038001100 OIL PUMP GEAR 31-T 1.00

2 0402251980 NEEDLEROL.DIN5402 NRA 2,5X19,8 2.00

3 0015060203 HH COLLAR SCREW M 6X20 WS=8 5.00

4 0015060253 HH COLLAR SCREW M 6X25 WS=8 1.00

5 58038007700 OIL PUMP MIKUNI G-73-10 2.00

6 58038007755 STOP DISK 8,1 X 15 X 0,5 4.00

7 0799060000 TAB WASHER DIN6799-RS 6,0 2.00

8 58438001000 OIL PUMP GEAR 26-T 1.00

9 58030021000 OILDRAIN PLUG W.MAG. M 12X1,5 1.00

13 58038028000 VALVE PISTON D=10MM 1.00

15 58038019100 OIL DRAIN PLUG M22X1,5 1.00

16 58038017100 CU-SEAL RING DIN7603-22X27X2 1.00

17 0908120153 threaded plug DIN 908 M12x1.5 DUKE 1.00

18 58038022000 CU-seal ring DIN7603-12X18X1.5 2.00

19 58038023300 PRESSURE SPRING L=25MM D=1MM 1.00

20 58038005000 OIL FILTER LONG 1.00

21 0770055020 0-RING 55,00X2,00 NBR70 1.00

22 58030008600 FILTER COVER M10x1 1.00

23 0015060253 HH COLLAR SCREW M 6X25 WS=8 3.00



30 58038234200 OIL LINE FILTER/ MICRO-FILTER 1.00

31 58038334600 OIL LINE FILTER/INJECT.VA. R/S R10/R8 - 175MM 1.00

32 58038134600 OIL LINE MIC-FILTER/CLUT.COVER 1.00

40 58038033100 DUAL BANJO BOLT M10 X 1 1.00

43 58038030000 BANJO BOLT M8 X 1 DIN7643 3.00

44 58038130000 JET SCREW M 8 X 1 ''150'' 1.00

45 58038032010 CU-SEAL RING DIN7603-10X14X1 3.00

46 58038032000 CU-SEAL RING DIN7603- 8X12X1 7.00

47 58038032300 CU-SEAL RING 8 X 12 X 1,5 1.00

50 58038041100 FILTER COVER '91 1.00

51 0770056020 O-RING 56,00X2,00 VITON 2.00

52 58038043000 % MICRO FILTER HOUSING 1.00

53 58038044000 MICRO FILTER ELEMENT 1.00

54 58038042100 FILTER COVER WITH M8 X 1 1.00

55 0010050163 SPECIAL SCREW DIN7500-M5,0X16 4.00

56 57538090000 BRACKET FOR MICRO-FILTER '93 1.00

57 57538091000 BRACKET MICRO-FILTER '93 1.00

60 0912050163 AH collar screw DIN 912 M5x16 0.00

60 0912050203 AH SCREW DIN0912-M 5X20 0.00

61 50232050000 WASHER 6,2X18X2 125 0.00

62 54431032050 SPACER BUSHING 6X8X8,5 3.00

63 31008060000 rubber grommet D=8mm open 3.00

64 54603048200 RANGE CHANGE METAL NUT M5 3.00


